THREEAMETHE —REXERRE

— =& Bl T
A — iR . —fin < i
e LB H niuxﬁgsﬁ%ﬁm$%i AR RE R ERRE
— =X
STRI YRKE 1,713,176 12,196
EREER 1,789, 977 38, 774
1R 88, 534, 496 77,573
5 4 B 50 12,982, 475 89, 909
BB 2,341, 290 74, 486
ARG ED 54,651,730[ 1,181,274
EEBEE 7,322,122 183, 210
R 13, 486, 126 206, 647
EHIKESD 17,575, 930 622, 085
B+ B 4,536, 427 103, 018
= == 4 —_
ERAL 16, 332, 677 of aft%%fﬁﬁf -
LEZER 63, 295, 261 15, 840} I\
Bs 890, 165 ol RFELET
AEZER 104, 653 of
EEZE 127, 290 of
FHEES 97, 414 of
SHEER 462, 091 of
&t 286, 243, 300[ 2, 605, 012
AHEE
E£EBEE 853, 099 of
BHIKESD 4,495,010 2 690, 719
2+ B 26, 685, 591 25, 155, 258
&t 32,033,700 27, 845,977
— =& A E 318,277,000 30, 450, 989




